Find the derivative of y with respect to x.

20) The charcoal from a tree killed in a volcanic eruption contained 61.3% of the carbon-14 found in
living matter. How old is the tree, to the nearest year? Use 5700 years for the half-life of

carbon-14.ub K: w’]&_ t p M

180 -
En /57000 © Il

(‘O‘\L :Cﬁ’ $100) 8 9
R .

1 \(—S’Jw ‘6113 2 (Zé(_k(ﬂ//c:ﬂw}{‘
ﬁ}nl 2 Rnc jﬁoU%: dne



21) The amount of alcohol in the bloodstream, A, declines at a rate proportional to the amount, that is
dA

< - kA. If k= 0.3 for a particular person, how long will it take for his alcohol concentration to
decrease from 0.10% to 0.05%? Give your answer to the nearest tenth of an hour. - ,’J) t
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